TITLE: 2023 CORRECTIVE/PREVENTATIVE MAINTENANCE ON: PHILO GREENWOOD ROAD, CR 132, AND CAMERON ROAD, CR 516 CONTRACT NO.:

230000

5

COUNTY: MENDOCINO

DISTRICT: ROUTE:

Mulitple

ADVERTISE DATE: March 31, 2023
PREPARED BY: William Wood William

☆ = Corrected Amount

BID OPENING DATE: April 25, 2023

DATE: 4/25/2023 CHECKED BY: Jannaliese Blundell

Northwest Paving, Inc. Redding, CA. NO. 1

0%

ENGINEERS ESTIMATE

0%

DATE: 4/26/2023

VSS International, Inc. West Sacramento, CA

NO. 2 0%

BASE BID, Philo Greenwood Road, CR 132, Exclude Bridge at M.P. 17.20,

Full Depth Reclamation (Cement) with 5/16" Chip Seal Top Wear Course, M.P. 0.00 to M.P. 7.0 and M.P. 12.00 to M.P. 17.65,

DBE GOAL:

3/8" Chip Seal, M.P. 0.00 to M.P. 17.65 (after FDR and before 5/16" Chip Seal)

	3/8" Chip Seal, M.P. 0.00 to M.P. 17.65 (after FDR and before 5/16" Chip Seal)										
ITEM	ITEM		UNIT	ESTIMATED	UNIT		UNIT		UNIT		
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
1	999990	MOBILIZATION	LS	1.0	\$210,425.00	\$210,425.00	\$234,500.00	\$234,500.00	\$94,800.00	\$94,800.00	
2	100100	DEVELOP WATER SUPPLY	LS	1.0	\$24,850.00	\$24,850.00	\$118,000.00	\$118,000.00	\$42,800.00	\$42,800.00	
3	120090	CONSTRUCTION AREA SIGNS	LS	1.0	\$13,800.00	\$13,800.00	\$18,400.00	\$18,400.00	\$26,880.00	\$26,880.00	
4	120100	TRAFFIC CONTROL SYSTEM	LS	1.0	\$127,800.00	\$127,800.00	\$198,000.00	\$198,000.00	\$560,551.94	\$560,551.94	
5	130200	PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1.0	\$3,450.00	\$3,450.00	\$8,850.00	\$8,850.00	\$11,000.00	\$11,000.00	
6	304010	FULL DEPTH RECYCLING - CEMENT (4" MINIMUM DEPTH)	SQYD	157,957.9	\$4.89	\$ \$772,414.13	\$9.00	\$1,421,621.10	\$8.00	\$1,263,663.20	
7	304110	CEMENT (FDR-CEMENT)	TON	1,990.3	\$301.00	☆ \$599,080.30	\$200.00	\$398,060.00	\$288.20	\$573,604.46	
8	304210	SUPPLEMENTARY AGGREGATE (FDR-CEMENT)	TON	526.5	\$58.00	\$ \$30,537.00	\$33.00	\$17,374.50	\$75.00	\$39,487.50	
		ASPHALTIC EMULSION									
9	304310	(FDR-CEMENT 0.13 - 0.25 gal/sqyd)	TON	164.5	\$100.00	\$ \$16,450.00	\$800.00	\$131,600.00	\$1,300.00	\$213,850.00	
10	304320	SAND COVER (FDR-CEMENT 1.0 - 2.0 lbs/sqyd)	TON	158.0	\$43.00	\$6,794.00	\$115.00	\$18,170.00	\$865.00	\$136,670.00	
11	304410	MIX DESIGN (FDR-CEMENT)	LS	1.0	\$26,200.00	\$26,200.00	\$30,000.00	\$30,000.00	\$25,025.00	\$25,025.00	
		POLYMER ASPHALTIC EMULSION									
12	374493	(chip seal, .3045 gal/sqyd)	TON	322.4	\$895.00	\$288,548.00	\$926.00	\$298,542.40	\$750.00	\$241,800.00	
13	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	SQYD	221,098.0	\$2.30	\$508,525.40	\$3.00	\$663,294.00	\$2.20	\$486,415.60	
		POLYMER ASPHALTIC EMULSION								1	
14	374493	(chip seal, .2030 gal/sqyd)	TON	197.4	\$896.00	\$176,870.40	\$926.00	\$182,792.40	\$750.00	\$148,050.00	
15	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	157,957.9	\$2.46	☆ \$388,576.43	\$2.60	\$410,690.54	\$2.10	\$331,711.59	
16	840656	PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	LF	93,456.0	\$0.35	\$32,709.60	\$0.35	\$32,709.60	\$0.33	\$30,840.48	
17	840666	PAINT PAVEMENT MARKINGS (2 COATS)	SQFT	192.0	\$5.18	\$994.56	\$24.50	\$4,704.00	\$4.95	\$950.40	
		BASE BID, Cameron Road, CR	516, Ty	oe III Micro-Su	ırfacing Levelin	g Course M.P. 0	.00 to M.P. 5.7	72			
18	378000	TYPE III, MICRO-SURRFACING LEVELING COURSE	SQYD	69,894.0	\$5.15	\$359,954.10	\$4.25	\$297,049.50	\$0.72	\$50,323.68	
19	840656	PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	LF	29,938.0	\$0.35	\$10,478.30	\$0.35	\$10,478.30	\$0.33	\$9,879.54	
20	840666	PAINT PAVEMENT MARKINGS (2 COATS)	SQFT	192.0	\$5.18	\$994.56	\$24.50	\$4,704.00	\$4.95	\$950.40	
		В	ID TOTAL:	×	\$3,599,451.79		\$4,499,540.34		\$4,289,253.79		

		BID ADDITIVE 1, Philo Greenwood Road, CR 132,Full	Depth R	eclamation (C	ement) with 5	/16" Chip Seal T	op Wear Cour	se, M.P. 7.00 to	M.P. 8.00	
ITEM	ITEM		UNIT	ESTIMATED	UNIT		UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
21	304010	FULL DEPTH RECYCLING - CEMENT (4" MINIMUM DEPTH)	SQYD	12,466.7	\$5.70	\$71,060.19	\$9.00	\$112,200.30	\$9.90	\$123,420.33
22	304110	CEMENT (FDR-CEMENT)	TON	157.1	\$301.00	\$ \$47,287.10	\$200.00	\$31,420.00	\$288.20	\$45,276.22
23	304210	SUPPLEMENTARY AGGREGATE (FDR-CEMENT)	TON	41.6	\$58.00	☆ \$2,412.80	\$33.00	\$1,372.80	\$86.00	\$3,577.60
		ASPHALTIC EMULSION								
24	304310	(FDR-CEMENT 0.13 - 0.25 gal/sqyd)	TON	13.0	\$100.00	\$1,300.00	\$800.00	\$10,400.00	\$1,379.23	\$17,929.99
25	304320	SAND COVER (FDR-CEMENT 1.0 - 2.0 lbs/sqyd)	TON	12.5	\$129.00	\$1,612.50	\$115.00	\$1,437.50	\$1,022.56	\$12,782.00
		POLYMER ASPHALTIC EMULSION								
26	374493	(chip seal, .2030 gal/sqyd)	TON	15.6	\$985.00	☆ \$15,366.00	\$926.00	\$14,445.60	\$750.00	\$11,700.00
27	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	12,466.7	\$5.50	\$ \$68,566.85	\$2.60	\$32,413.42	\$2.10	\$26,180.07
	BID ADDITIVE 1 TOTA					\$207,605.44		\$203,689.62		\$240,866.21

BASE BID PLUS BID ADDITIVE 1 TOTAL (AWARD TOTAL):	☆ \$3.807.057.23	\$4,703,229.96	\$4,530,120.00

		BID ADDITIVE 2, Cameron Road, CR 516Full Dept	th Recla	mation (Ceme	nt) with 5/16"	Chip Seal Top W	ear Course, N	1.P. 0.00 to M.P.	. 2.00	
		3/8" Chip Seal, M.P	. 0.00 to	M.P. 5.72 (af	ter FDR and be	fore 5/16" Chip	Seal)			
ITEM	ITEM		UNIT	ESTIMATED			UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
		SUBTRACT TYPE III, MICRO-SURFACING								
28	378000	LEVELING COURSE	SQYD	-69,894.0	\$5.15	-\$359,954.10	\$4.25	-\$297,049.50	\$0.72	-\$50,323.68
29	304010	FULL DEPTH RECYCLING - CEMENT (4" MINIMUM DEPTH)	SQYD	24,188.3		\$140,292.14	\$9.00	\$217,694.70	\$11.00	\$266,071.30
30	304110	CEMENT (FDR-CEMENT)	TON	304.8	\$301.00	\$91,744.80	\$200.00	\$60,960.00	\$289.00	\$88,087.20
31	304210	SUPPLEMENTARY AGGREGATE (FDR-CEMENT)	TON	80.6	\$58.00	\$4,674.80	\$33.00	\$2,659.80	\$88.00	\$7,092.80
		ASPHALTIC EMULSION								
32	304310	(FDR-CEMENT 0.13 - 0.25 gal/sqyd)	TON	25.2	\$100.00	\$2,520.00	\$800.00	\$20,160.00	\$1,400.00	\$35,280.00
33	304320	SAND COVER (FDR-CEMENT 1.0 - 2.0 lbs/sqyd)	TON	24.2	\$70.00	☆ \$1,694.00	\$115.00	\$2,783.00	\$1,100.00	\$26,620.00
		POLYMER ASPHALTIC EMULSION								
34	374493	(chip seal, .3045 gal/sqyd)	TON	101.9	\$915.00	\$ \$93,238.50	\$926.00	\$94,359.40	\$850.00	\$86,615.00
35	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	SQYD	69,894.0	\$2.46	\$171,939.24	\$3.00	\$209,682.00	\$2.85	\$199,197.90
		POLYMER ASPHALTIC EMULSION								
36	374493	(chip seal, .2030 gal/sqyd)	TON	30.2	\$965.00	☆ \$29,143.00	\$926.00	\$27,965.20	\$850.00	\$25,670.00
37	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	24,188.3	\$2.97	\$ \$71,839.25	\$2.60	\$62,889.58	\$2.70	\$65,308.41
	BID ADDITIVE 2 TOTAL					\$247,131.63		\$402,104.18	*	\$749,618.93

TITLE: 2023 CORRECTIVE/PREVENTATIVE MAINTENANCE ON: PHILO GREENWOOD ROAD, CR 132, AND CAMERON ROAD, CR 516

CONTRACT NO.:

DATE: 4/26/2023

230000 DISTRICT:

5

COUNTY: MENDOCINO

ROUTE:

Mulitple

ADVERTISE DATE: March 31, 2023 William 9) ood PREPARED BY: William Wood

DATE: 4/25/2023 CHECKED BY: Jannaliese Blundell

		BID ADDITIVE 3, Cameron Road, CR 516, Full Dep	th Recla	mation (Cem	ent) with 5/16"	Chip Seal Top V	Vear Course, N	Л.Р. 3.25 to M.F	P. 5.25	
ITEM	ITEM		UNIT	ESTIMATED			UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
38	304010	FULL DEPTH RECYCLING - CEMENT (4" MINIMUM DEPTH)	SQYD	24,933.3	\$5.81	\$144,862.47	\$9.00	\$224,399.70	\$10.00	\$249,333.00
39	304110	CEMENT (FDR-CEMENT)	TON	314.2	\$301.00	\$94,574.20	\$200.00	\$62,840.00	\$288.20	\$90,552.44
40	304210	SUPPLEMENTARY AGGREGATE (FDR-CEMENT)	TON	83.1	\$58.00	\$4,819.80	\$33.00	\$2,742.30	\$86.00	\$7,146.60
		ASPHALTIC EMULSION								
41	304310	(FDR-CEMENT 0.13 - 0.25 gal/sqyd)	TON	26.0	\$100.00	\$2,600.00	\$800.00	\$20,800.00	\$1,400.00	\$36,400.00
42	304320	SAND COVER (FDR-CEMENT 1.0 - 2.0 lbs/sqyd)	TON	24.9	\$74.00	\$1,842.60	\$115.00	\$2,863.50	\$1,100.00	\$27,390.00
		POLYMER ASPHALTIC EMULSION								
43	374493	(chip seal, .2030 gal/sqyd)	TON	31.2	\$1,102.00	\$34,382.40	\$926.00	\$28,891.20	\$850.00	\$26,520.00
44	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	24,933.3	\$5.54	☆ \$138,130.48	\$2.60	\$64,826.58	\$3.20	\$79,786.56
	BID ADDITIVE 3 TOTAL :					\$421,211.96		\$407,363.28		\$517,128.60

	BID ADDITIVE 4, Philo Greenwood Road, CR 132, Flush Coat, M.P. 0.00 to M.P. 17.65											
ITEM	TEM ITEM UNIT UNIT UNIT UNIT UNIT											
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT		
		ASPHALTIC EMULSION										
45	374004	(FLUSH COAT 0.15 - 0.25 gal/sqyd)	TON	230.3	\$400.00	\$ \$92,120.00	\$800.00	\$184,240.00	\$1,300.00	\$299,390.00		
46	370001	SAND COVER (FLUSH COAT 2.0 - 6.0 lbs/sqyd)	TON	442.2	\$282.00	☆ \$124,700.40	\$115.00	\$50,853.00	\$210.00	\$92,862.00		
	BID ADDITIVE 4 TOTAL : ★ \$216,820.40 \$235,093.00 \$392,252.00											

	BID ADDITIVE 5, Cameron Road, CR 516, Flush Coat, M.P. 0.00 to M.P. 5.72										
ITEM	TEM ITEM UNIT UNIT UNIT UNIT UNIT										
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
		ASPHALTIC EMULSION									
47	374004	(FLUSH COAT 0.15 - 0.25 gal/sqyd)	TON	72.8	\$250.00	☆ \$18,200.00	\$800.00	\$58,240.00	\$1,600.00	\$116,480.00	
48	370001	SAND COVER (FLUSH COAT 2.0 - 6.0 lbs/sqyd)	TON	139.8	\$560.00	☆ \$78,288.00	\$115.00	\$16,077.00	\$300.00	\$41,940.00	
		BID ADI	DITIVE	5 TOTAL:	☆	\$96,488.00		\$74,317.00	- 10	\$158,420.00	

TITLE: 2023 CORRECTIVE/PREVENTATIVE MAINTENANCE ON: PHILO GREENWOOD ROAD, CR 132, AND CAMERON ROAD, CR 516

TON

SQYD

LF

SQFT

SQYD

SQFT BASE BID TOTAL:

197.4

157,957.9

93,456.0

192.0

69,894.0

29,938.0

192.0

BASE BID, Cameron Road, CR 516, Type III Micro-Surfacing Leveling Course M.P. 0.00 to M.P. 5.72

CONTRACT NO.: DISTRICT:

230000 5

COUNTY: MENDOCINO

ROUTE: Mulitple

ADVERTISE DATE: March 31, 2023
PREPARED BY: William Wood William Wood

POLYMER ASPHALTIC EMULSION

840666 PAINT PAVEMENT MARKINGS (2 COATS)

840666 PAINT PAVEMENT MARKINGS (2 COATS)

375001 SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)

840656 PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)

378000 TYPE III, MICRO-SURRFACING LEVELING COURSE

840656 PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)

374493 (chip seal, .20-.30 gal/sqyd)

14

15

17

18

19

BID OPENING DATE: April 25, 2023

DATE: 4/25/2023 CHECKED BY: Jannaliese Blundell

DATE:	4/26/2023

FINCPA	INED BT.	William Wood Witten 2000	DATE	4, 23, 2023	CITECKED DI.	Jannanese Bran	ac.i.	,,,,,,,		
					Pavement Coatings Co Sacramento, CA NO. 3			NEERS MATE	NO.	4
	* =	Corrected Amount	D	BE GOAL:	00		0	1%	0%	
		BASE BID, Philo C	Greenwo	ood Road, CR	132, Exclude Bri	dge at M.P. 17.	20,			
		Full Depth Reclamation (Cement) with 5/16						to M.P. 17.65,		
		3/8" Chip Seal, M.P.								
ITEM	ITEM		UNIT	ESTIMATED	UNIT		UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
1	999990	MOBILIZATION	LS	1.0	\$362,000.00	\$362,000.00	\$234,500.00	\$234,500.00	\$0.00	\$0.00
2	100100	DEVELOP WATER SUPPLY	LS	1.0	\$14,000.00	\$14,000.00	\$118,000.00	\$118,000.00	\$0.00	\$0.00
3	120090	CONSTRUCTION AREA SIGNS	LS	1.0	\$10,000.00	\$10,000.00	\$18,400.00	\$18,400.00	\$0.00	\$0.00
4	120100	TRAFFIC CONTROL SYSTEM	LS	1.0	\$225,000.00	\$225,000.00	\$198,000.00	\$198,000.00		\$0.00
5	130200	PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1.0	\$1,200.00	\$1,200.00	\$8,850.00	\$8,850.00		\$0.00
6	304010	FULL DEPTH RECYCLING - CEMENT (4" MINIMUM DEPTH)	SQYD	157,957.9	\$6.25	\$987,236.88				\$0.00
7	304110	CEMENT (FDR-CEMENT)	TON	1,990.3	\$265.00	\$527,429.50		\$398,060.00	\$0.00	\$0.00
8	304210	SUPPLEMENTARY AGGREGATE (FDR-CEMENT)	TON	526.5	\$90.00	\$47,385.00	\$33.00	\$17,374.50	\$0.00	\$0.00
		ASPHALTIC EMULSION								
9	304310	(FDR-CEMENT 0.13 - 0.25 gal/sqyd)	TON	164.5	\$850.00	\$139,825.00		\$131,600.00		\$0.00
10	304320	SAND COVER (FDR-CEMENT 1.0 - 2.0 lbs/sqyd)	TON	158.0	\$200.00	\$31,600.00		\$18,170.00	\$0.00	\$0.00
11	304410	MIX DESIGN (FDR-CEMENT)	LS	1.0	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$0.00	\$0.00
		POLYMER ASPHALTIC EMULSION								
12	374493	(chip seal, .3045 gal/sqyd)	TON	322.4	\$840.00	\$270,816.00		\$298,542.40		\$0.00
13	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sgyd)	SQYD	221,098.0	\$4.25	\$939,666.50	\$3.00	\$663,294.00	\$0.00	\$0.00

		BID ADDITIVE 1, Philo Greenwood Road, CR 132,Full	Depth R	eclamation (C	ement) with 5/	16" Chip Seal T	op Wear Cours	se, M.P. 7.00 to	M.P. 8.00	
ITEM	ITEM		UNIT	ESTIMATED	UNIT		UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
21	304010	FULL DEPTH RECYCLING - CEMENT (4" MINIMUM DEPTH)	SQYD	12,466.7	\$9.00	\$112,200.30	\$9.00	\$112,200.30	\$0.00	\$0.00
22	304110	CEMENT (FDR-CEMENT)	TON	157.1	\$265.00	\$41,631.50	\$200.00	\$31,420.00	\$0.00	\$0.00
23	304210	SUPPLEMENTARY AGGREGATE (FDR-CEMENT)	TON	41.6	\$110.00	\$4,576.00	\$33.00	\$1,372.80	\$0.00	\$0.00
		ASPHALTIC EMULSION								
24	304310	(FDR-CEMENT 0.13 - 0.25 gal/sqyd)	TON	13.0	\$850.00	\$11,050.00	\$800.00	\$10,400.00	\$0.00	\$0.00
25	304320	SAND COVER (FDR-CEMENT 1.0 - 2.0 lbs/sqyd)	TON	12.5	\$200.00	\$2,500.00	\$115.00	\$1,437.50	\$0.00	\$0.00
		POLYMER ASPHALTIC EMULSION								
26	374493	(chip seal, .2030 gal/sqyd)	TON	15.6	\$840.00	\$13,104.00	\$926.00	\$14,445.60	\$0.00	\$0.00
27	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	12,466.7	\$5.42	\$67,569.51	\$2.60	\$32,413.42	\$0.00	\$0.00
	BID ADDITIVE 1 TOT					\$252,631.31		\$203,689.62		\$0.00

BASE BID PLUS BID ADDITIVE 1 TOTAL (AWARD TOTAL):	☆ \$4,485,278.19	\$4,703,229.96	\$0.00

\$700.00

\$1.55

\$0.32

\$4.77

\$3.25

\$0.32

\$4.77

\$138,180.00

\$244,834.75

\$29,905.92

\$227,155.50

\$4,232,646.88

\$9,580.16

\$915.84

\$915.84

\$926.00

\$2.60

\$0.35

\$24.50

\$4.25

\$0.35

\$24.50

\$182,792.40

\$410,690.54

\$32,709.60

\$4,704.00

\$297,049.50

\$10,478.30

\$4,499,540.34

\$4,704.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

		BID ADDITIVE 2, Cameron Road, CR 516Full Dep	th Recla	mation (Ceme	ent) with 5/16"	Chip Seal Top W	ear Course, N	1.P. 0.00 to M.P.	. 2.00	
		3/8" Chip Seal, M.F								
ITEM	ITEM		UNIT	ESTIMATED			UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
		SUBTRACT TYPE III, MICRO-SURFACING								
28	378000	LEVELING COURSE	SQYD	-69,894.0	\$3.25	-\$227,155.50	\$4.25	-\$297,049.50	\$0.00	\$0.00
29	304010	FULL DEPTH RECYCLING - CEMENT (4" MINIMUM DEPTH)	SQYD	24,188.3	\$9.00	\$217,694.70	\$9.00	\$217,694.70	\$0.00	\$0.00
30	304110	CEMENT (FDR-CEMENT)	TON	304.8	\$265.00	\$80,772.00	\$200.00	\$60,960.00	\$0.00	\$0.00
31	304210	SUPPLEMENTARY AGGREGATE (FDR-CEMENT)	TON	80.6	\$110.00	\$8,866.00	\$33.00	\$2,659.80	\$0.00	\$0.00
		ASPHALTIC EMULSION								
32	304310	(FDR-CEMENT 0.13 - 0.25 gal/sqyd)	TON	25.2	\$850.00	\$21,420.00	\$800.00	\$20,160.00	\$0.00	\$0.00
33	304320	SAND COVER (FDR-CEMENT 1.0 - 2.0 lbs/sqyd)	TON	24.2	\$200.00	\$4,840.00	\$115.00	\$2,783.00	\$0.00	\$0.00
		POLYMER ASPHALTIC EMULSION								
34	374493	(chip seal, .3045 gal/sqyd)	TON	101.9	\$840.00	\$85,596.00	\$926.00	\$94,359.40	\$0.00	\$0.00
35	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	SQYD	69,894.0	\$5.25	\$366,943.50	\$3.00	\$209,682.00	\$0.00	\$0.00
		POLYMER ASPHALTIC EMULSION								
36	374493	(chip seal, .2030 gal/sqyd)	TON	30.2	\$700.00	\$21,140.00	\$926.00	\$27,965.20	\$0.00	\$0.00
37	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	24,188.3	\$2.85	\$68,936.66	\$2.60	\$62,889.58	\$0.00	\$0.00
		BID AD	2 TOTAL:		\$649,053.36		\$402,104.18		\$0.00	

Page 3 of 4

TITLE: 2023 CORRECTIVE/PREVENTATIVE MAINTENANCE ON: PHILO GREENWOOD ROAD, CR 132, AND CAMERON ROAD, CR 516

CONTRACT NO.: DISTRICT:

230000

5

COUNTY: MENDOCINO ROUTE: Mulitple

ADVERTISE DATE: March 31, 2023
PREPARED BY: William Wood

William Wood

BID OPENING DATE: April 25, 2023

BID OPENING DATE: April 25, 2023

DATE: 4/25/2023 CHECKED BY: Jannaliese Blundell DATE: 4/26/2023

BID ADDITIVE 3, Cameron Road, CR 516, Full Depth Reclamation (Cement) with 5/16" Chip Seal Top Wear Course, M.P. 3.25 to M.P. 5.25											
ITEM	ITEM		UNIT	ESTIMATED			UNIT		UNIT		
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
38	304010	FULL DEPTH RECYCLING - CEMENT (4" MINIMUM DEPTH)	SQYD	24,933.3	\$9.00	\$224,399.70	\$9.00	\$224,399.70	\$0.00	\$0.00	
39	304110	CEMENT (FDR-CEMENT)	TON	314.2	\$265.00	\$83,263.00	\$200.00	\$62,840.00	\$0.00	\$0.00	
40	304210	SUPPLEMENTARY AGGREGATE (FDR-CEMENT)	TON	83.1	\$110.00	\$9,141.00	\$33.00	\$2,742.30	\$0.00	\$0.00	
		ASPHALTIC EMULSION									
41	304310	(FDR-CEMENT 0.13 - 0.25 gal/sqyd)	TON	26.0	\$850.00	\$22,100.00	\$800.00	\$20,800.00	\$0.00	\$0.00	
42	304320	SAND COVER (FDR-CEMENT 1.0 - 2.0 lbs/sqyd)	TON	24.9	\$200.00	\$4,980.00	\$115.00	\$2,863.50	\$0.00	\$0.00	
		POLYMER ASPHALTIC EMULSION									
43	374493	(chip seal, .2030 gal/sqyd)	TON	31.2	\$700.00	\$21,840.00	\$926.00	\$28,891.20	\$0.00	\$0.00	
44	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	24,933.3	\$3.26	\$81,282.56	\$2.60	\$64,826.58	\$0.00	\$0.00	
	BID ADDITIVE 3 TOTAL :					\$447,006.26		\$407,363.28		\$0.00	

	BID ADDITIVE 4, Philo Greenwood Road, CR 132, Flush Coat, M.P. 0.00 to M.P. 17.65										
ITEM	ITEM		UNIT	ESTIMATED	UNIT		UNIT		UNIT		
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
		ASPHALTIC EMULSION									
45	374004	(FLUSH COAT 0.15 - 0.25 gal/sqyd)	TON	230.3	\$900.00	\$207,270.00	\$800.00	\$184,240.00	\$0.00	\$0.00	
46	370001	SAND COVER (FLUSH COAT 2.0 - 6.0 lbs/sqyd)	TON	442.2	\$244.00	\$107,896.80	\$115.00	\$50,853.00	\$0.00	\$0.00	
	BID ADDITIV			4 TOTAL :		\$315,166.80		\$235,093.00		\$0.00	

BID ADDITIVE 5, Cameron Road, CR 516, Flush Coat, M.P. 0.00 to M.P. 5.72										
ITEM	ITEM		UNIT	ESTIMATED	UNIT		UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
		ASPHALTIC EMULSION								
47	374004	(FLUSH COAT 0.15 - 0.25 gal/sqyd)	TON	72.8	\$1,000.00	\$72,800.00	\$800.00	\$58,240.00	\$0.00	\$0.00
48	370001	SAND COVER (FLUSH COAT 2.0 - 6.0 lbs/sqyd)	TON	139.8	\$330.00	\$46,134.00	\$115.00	\$16,077.00	\$0.00	\$0.00
	BID ADDITIVE 5 TOTAL :			5 TOTAL:	\$118,934.00		\$74,317.00		\$0.00	